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QUESTION 1

Identify the incorrect option about the commodity setup. 

A. Incompatible commodities can be captured while defining a commodity. 

B. Specific temperature controls cannot be assigned while defining a commodity. 

C. You can select transportation modes while defining a commodity. 

D. You can link commodity with equipment types while defining a new commodity. 

Correct Answer: B 

 

QUESTION 2

What must you do in order to export data from the CONTACT table, so that the data only includes contacts with email
addresses ending with "@oracle.com"? 

A. The CSV utility is useful for managing large amounts of data, but it is not capable of filtering data during the export
process. 

B. Export the data first, and then use software such as MS Excel, MS Access, or direct SQL to filter the data. 

C. Use the "Where" clause on the CSV Export screen to specify the "@oracle.com" qualifier. 

D. Create a CSVUTIL file that specifies the "@oracle.com" qualifier. 

Correct Answer: B 

 

QUESTION 3

Which three statements are true when configuring allocation rules for OTM Freight Payment? (Choose three.) 

A. For a service provider, one can assign one allocation rule based on the planned cost and another based on the
actual cost. 

B. OTM uses the first allocation rule that applies. 

C. The allocation rules in the profile can be sequenced in the allocation rule profile. 

D. One cannot use the same rule in more than one allocation rule profile. 

E. Allocation rules need to be set up before the allocation rule profiles. 

Correct Answer: ABE 

 

QUESTION 4
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Which three options are available after a document has been assigned to a Customs transaction as a standard
document? (Choose three.) 

A. View the document content. 

B. Upload the document content. 

C. Edit the document. 

D. Generate the document content. 

E. Validate the document content. 

Correct Answer: ADE 

 

QUESTION 5

To import Rates in OTM, which are four key components that you must configure? (Choose four.) 

A. Rate Service 

B. Lanes 

C. Rate Offering 

D. Accessorial 

E. Itinerary 

F. Rate Quality 

G. Rate Record 

Correct Answer: ACDG 
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